ALz Im¥EFH K OB ALK (LF)

T % F 5 LIS T % & AR TE
T #= 4 R B T/KEE R L5 (EE)
T %= 5 5 FHEE T T 5 5 P
B AL £ A H 64410 A31H A4 A H AF6FEILATH
(% %iﬁ /ﬂﬁ 2';% 12,248,000/ (Bith) 5 A5G 1) R AT % 10,954,000 (Bisk)
B T
VU ¢ 150 L=108m
HIVP ¢ 75 L=12m
TR omoE | o xamr
15 N=5f&HT
/NS N=3fE T
% # % prEALCD AR g s
Rt vl 11,049,000 % tL
BEHE 1RAd R 11,050,000
Bt KH 11,100,000
BRtE R 10,867,00014 PN
Bt RORE 10,880,0004 PN
el st 10,900,000 PN
AL st B GR
L7 SRS X ol ot 57 N A&
L7 SEVEE T ot EE i B
MRS W AR i B
%L EF A R Il
¥ KL P AE T PRI AR BT ERGE 4741
2K & 12,153,900 (9 HiHEBIFH 2% 1,104,900 )
#FHEH A AF6FE11A8H 6 A R AFTHE2 A28 H




ALz InEH K O R (T FE)

T # % &5 At T2 135 T & f& 5l BILH
T #H 4 FiTH HEPNAG K B A R R L
T+ % pr FHEE T 1L e Y0 A
Bl AL 4 H R AFI6410 431 H K EH A 164114 18H
FG 9,700,000/ (B | e A6 il R A 45 8,686,000/  (Bidh)
PE ¢ 20 L=59.2m
PE ¢ 40 L=98.0m
K N=10f&FT
S —_— SHEE T t=4em A=46611
Bt v 1= 8,688,000 % AL
et RE LB 8,694,000
HfeipE T st 9,500,000
Rt P % 9,600,000
At 7o 8,535,000 PN
BRAS A ARTERR 8,654,000 PN
Bt R R R 8,659,000 KO
SV 1 < 1o 8,678,000 K
A&t v~h 8,679,000 KO
ARt B %)
Bt AR [
HRA A A wEIR
At KA [ e
ta—vrhy” RSt R IR
W L EF A4 &t <=
% FL A T AE SR B PRI T (L R T KA 152
2K & # 9,556,800 (5 LIHFBiIAH %R 868,800 )
A FHENAH AFI64E11A 191 56 K 4 H SFTHE2H 28 H




B4 kA KO H

LR R (T #F )

T F % 5 KN L5174 T == fE BhAE T
T # A4 FE HRB P B 257 1A T
T % % o PHEE T3 7 HEHT A N
By AL 4= A H A F6E10H 31 H 2K HE AR AF6H1LHTH
T OE i & 2,382,000 (Bitk) Fic B ) R A 45 2,113,000/ (Bitk)
ST t=4em A=247nd
T # # =
o E L (AHL % H &) prEAL RN R s
AR st 2,113,000 < U
A B AR 2,113,000 %AL(KL)
HER &t I 2,113,000 < U
BRAR St IIAREERR 2,113,000/ < U
Rt UG R 2,113,000 < U
BRIl 2,113,000 < U
B 2,113,000 < U
Rt SRR 2,114,000
PRI pRoAlth 2,300,000
Ve PHERE BRIt B IR
ta—vr by RS B R
ARt EARTEIS B IR
R B A4 B AR
& AL 3 T L Hh FEJHE VR FHIE oK BT 458584
K & 2,324,300/ (5 HIHEBUHE Y4 211,300/ )
#FHEAH 6411 H8H 6 R A H AFTHE2H 14H




4 X K OBMLMER(CTHE)

T H & EIE T35 T = F 5 +A—ATH
T =% MEER/ IR ERW R T

™| ao

T % %5 o Fhge v 75 L T R PN

B AL 4= H H AF64E10H 31 H BHKE A H SF6E11H6H
T E Ol Ok 5,753,000  (Fitk) B G 1 [R A 4% 5,136,000  (Fitk)
#EE 1=10.7m

LATFTBERE T 1.=6.8m
AHAET A=39nd
BHEMET. L=Tm
T &= @ = XE#E T L=31m

o E L (AHL % H &) prEAL RN R s
BRI AR oA 5,136,000 HAL(KL)
Rt HIHE 5,136,000 < U
ta—vrbhby RSt 5,136,000 < U
SRl 5,136,000 < U
JE LT e R
T PHEE  pRs B IR
T ) TR ~ B
pRA s U7 ERR B IR
ARt HEx ~ B

w KL EF 4 RS BEAE R A

% KL A& T AE Lo L PRI AR B T B A$2553-5

K & M 5,649,600 (5 BHiHEFIARYS%H 513,600 )

A T4 A H SFGELILHTH SE R A H SFTHELH30H




B4 kA KO H

LR R (T #F )

T # & 5 TER 553675 T % M ol 5 N VB 2
T % 4 RORTHE MEEAE LE
T % % o PR T BT AR N
By AL 4= A H A F6E10H 31 H 2K HE AR AF6HE1LA6 A
T OE i & 6,966,000M  (Bitk) Fic B ) R A 45 6,117,000/  (Bitk)
i THER: L=5.95m
SFA e T A=0.8mt
KR L A=2lnd
SRME T A=2mt
T F M = BRBIET. A=25m
o E L (AHL % H &) prEAL RN R s
R Rt 6,117,000 HAL(KL)
BRR st A 6,117,000 < U
Il e e 6,120,000
Bt |l 6,104,000 E
RSt AR 6,104,000 K
AABLRE BRtt 6,105,000 RO
IR BLE AR R
A&t TIF B IR
FHE TARAARL S R
M BLE pR B IR
RSt voBa R
K ETETE HRAatt B IR
BRRHE EARLEE R
% L E 4 o AR Rt
W AL BT AE S I PHE T 1L B T R B 155
K & 6,728,700M (5 HHEBIH Y41 611,700 )
#FHEAH BREFLILATH 6 R A H AFTHE2H19A




4 X K OBMLMER(CTHE)

L # & 5 R 5435 T = f 5l e T
T H 4 BRI RS AEERE T
T % % o FHEE T 1L FE T2 1 H P
By AL 4= A H A F6E10H 31 H 2K HE AR 6411 H6H
T OE i & 6,339,000 (Bitk) Fic B ) R A 45 5,637,000/  (Bitk)
i THER 1=153.2m
iE
#JE A=980m
T F # = [X”Eﬁ %v:wo L=300m
il W=150 L=70m
Ff FLr L=33m
o E L (AHL % H &) prEAL RN R s
ARt L AKR b 5,637,000 < U
Rt Ok Bl 5,637,000 < U
7 SV S AR R W N 5,637,000 < U
BRI 5,637,000 HHAL(LL)
L SV o A 5,637,000 < U
B St FE A 5,637,000 < U
MRSt DR 5,637,000 < U
EARR At 5,637,000 < U
MRS 1RA R 5,637,000 < U
Bt RETH 5,637,000 < U
AR Bt 5,637,000 < U
RS KB THE B iR
MR KAt wE R
R B A4 HRAREHE EE
& AL 3 T L Hh T JFE VR PR 7 L BT o 55948
K & 6,200,700M (5 HHEBIH 448 563,700F )
#FHEAH AF6HE11HTH 6 R A H SFTH2H 14 H




4 X K OBMLMER(CTHE)

I # F 5 ER 5405 T #= fE 3l e T

T # 4 TTEAAERE T 9022 (hAJE L R ik - f 5K Bl k)

T % % o P AR - L i

By AL 4= A H A F6E10H 31 H 2K HE AR AF6HE1LA6 A

T OE i & 4,871,000 (Bitk) Fe fEG il BR Al 45 4,320,000/ (Bitk)

LT —3X

T F # =

o E L (AHL % H &) prEAL RN R s
&t v = 4,320,000 < U
EARRER A&t 4,320,000 < U
MRS AR LHIE 4,320,000 #wAL(KL)
AR Rt 4,320,000 < U
MRt = e R
MRt A B IR
Rt AR R

w KL EF 4 AL RETENE

P& KL 35 P 7£ # S IR PR T L R T N B L3341

K & M 4,752,000 (5 BHIEEFIARS%H 432,000/ )

A T4 A H SFGELILHTH SE R A H STHE3H 25 H




4 X K OBMLMER(CTHE)

L # & 5 ERTHALS T #= fE 3l e T

T % 4 B SIS ERE T F2 02 OK b5 H Huk - KT 52550 B EuR)

T % % o PHEE K I - 5 b i

By AL 4= A H A F6E10H 31 H 2K HE AR AF6HE1LA6 A

T OE i & 4,885,000 (Bitk) Fic B ) R A 45 4,334,000/ (Bitk)

T —=
T # # =
o E L (AHL % H &) prEAL RN R s

ARt L AKR b 4,334,000 < U
BRR st R 4,334,000 < U
RSt ST E 4,334,000 #HHL(KL)
B St TRkl ek 4,334,000 < U
HREt Tohy—o2 4,334,000 < U
HARHR ¥ st 4,885,000
At R R
R Rt B IR
5/ Ve TIT = B N R
A&t v F R B IR
HEFARL AL o

% L E 4 PRt Ur s BiLpE

W AL BT AE S PR K ERTAF1461-2

K & 4,767,400M (5 HIHEBIH 448 433,400 )

#FHEAH BREFLILATH 6 R A H AFTH3H 25




4 X K OBMLMER(CTHE)

I # F 5 ER A2 T #= fE 3l e T

r % 4 B EEEERE 952 02 (B B i 5 Higk - Fa A 2240 A k)

T % % o FHE AR A - 17 e Hdik

By AL 4= A H A F6E10H 31 H 2K HE AR AF6HE1LA6 A

T OE i & 4,799,000 (Bitk) Fic B ) R A 45 4,257,000/ (Bitk)

T —=
T # # =
o E L (AHL % H &) prEAL RN R s

&t b 4,257,000 < U
ARt A 4,257,000 < U
BRatt ok RHLsE 4,257,000 < U
VEIEBLRE BRIt 4,257,000 HHL(KL)
R st 4,799,000
MRt FKEF TS B IR
H AR HRat R
[ SEVEE T S /RN B/ B IR

S R PEIEBLRE BRI

W AL BT AE FeJi PR i AR B ET R 871158

K & 4,682,700M (5 HHEBIAH 441 425,700 )

#FHEAH BREFLILATH 6 R A H AFTH3H 25




